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POLITICAL SCIENCE AND
INTERNATIONAL RELATIONS

Paper—II
Time AIlo&é;d : Three Hours Maxin{ﬁm Marks : 300
INSTRUCTIONS

Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks. will be
given for the answers written in a medium
other than .that specified. in- the Admission
Certificate.

Candidates should attempt Question Nos. 1
and §-which are compulsory, and any three
of the remaining questions selecting at least
one question from.each. Section.

The number of marks carried by each
-question. is indicated at the end of the
question.
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Section—A pe) n

1. Answer the following in., -about 200 words
each : 20x3=6C

(@)

(b)

(c)

(b)

(b)

“Either terrorism triumphs or
civilization triumphs.”

Comment on the above statement. 20

What is ‘New Social Movement (NSM)™?
Explain the main challenges of the NSM
in the developing countries. 8+12=20

Examine the nature and dynamics of
contemporary globalization. 20

What is comprehensive approach to
national security? 20

Do you agree with the view that
over-widening of the concept of ‘national
security’ has made it a more amorphous
concept? Discuss. 40

“Structural-functional  approach ‘to
political analysis focusses more on
status quoism, and less on change.”
Elucidate. 30

Explain the uses of systems approach in

international relations and examine the

relevance of Kaplan’s system analysis.
10+20=30
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Qug—h

1. fwafafiga & s &R, s w&% @ 200 =t

#3

(%)

(W)

(m)

2. (&)

()

3. (F)

20x3=60

‘@ e ey wT ?, 1 o faea
T8 Ft 21’

I9UH FuF gL feoeft Hifdm) 20

@ g TSN (Wo THo WHo)' @ 87
Freresfia <ot § o whHo wHo i gEA TN

H W HiR| 8+12=20
TEERAA Sydiem f wEfa e nfdeh @

qiagur it | 20
LR Qe 1 gaumaet Samm = 37 20

TN 9 W e @ wewa € B wie gen’ fi
HFea & fd-foamor 3 TR s
31ftreR SRR Hepew 1 foar 27 == Ay 40

‘T ve o ¥ @RS - T ioE
IYUE W FiRE gAd-Teafaar | iR eiR
qfgds W aamHa A @ waT 2 gEE
| 30

AW Tl § a9 IINH F I9ENT B
HT 3N 9 & a3 favawor h grafierar =&
e Fifsm 10+20=30
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4. {(a) How far the efforts to maintain
international order in the post-Cold War
period by the UN have'been successful? 30

(b} What are the major impediments to UN
Security Council reform? 30

Section—B

S. Answer the following in about 200 words
each : 20x3=60

(a) Explain the role of the Parliamenf in the
shaping of 123 Agreement between
India .and the US on Civil-nuclear
Cooperation.

(b) Do you think that India should sign a
treaty with China on water-sharing of
Brahmaputra river, similar to what she
did with Nepal and other neighbouring
states?

{¢) “While: India opposes NPT as
discriminatory, it opposes CTBT on the
ground of ineffectiveness.” Comment.

6. Explain the following statements and
elucidate their implications : 30+30=60

(a) “India’s policy of non-alignment was
based on both idealist and realist
calculations.”

(b} “India’s policy in post-Cold War era is
tilted towards pragmatism and wisdom.”
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4. (%) 9gH UY g IA-FER Iafyr F e ety
G, F9C W & yOE fea dwm 9 gwa
T &7 30

(@) w% g e ufeg F gum § wn-wn sge
g &7 30

Qis—da

5. frafaRes % 3w dfe, I 79 @M 200 =
R 20x3=60

(&) fofe@-Thrfie wgam = 9yra 3K go o &
i 123 TR F] @®Y T&@H HA T Gug Hi
iRt T Hifer |

(@) wRa 3 U R I wgn usdl % 9
s -farrem i fm wER A |y o gEaR g
T, T vF AR ¥ uRd # wEgy T %
Sia-fowred =R & @ ot 3dft % gme |y
T EEIER Y ARt

() “‘SefE wra yerFty Gy (Go o do) =
WEH B & A0 iy war B, @8 s
ghegor wfiey @fy (FHe do e FHo) =
Fregwfoa & smar | fady o R fewf

Fifrm)

6. Fm=fifaa wemAt # we Fifve afk I Fifgaet H
T g 30+30=60
(%) "“‘vra h-frjzar i fifq et o qursarE

SHT E oMttt W sy o)
(@) ‘“‘Me-ggim Fa 7 wma @t e sEeiEa
IR gfgrr it 3R Fh g 817
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7. (d)
(b)
8. ({(a)
(b}

Explain the major flaws in India’s ‘Look
East Policy’. Is it: possible to steer and
implement the policy successfully in
view of China’s emergence as a
high-tech power in Asia-Pacific?

20+10=30

To what extenf. is multi-lateralism
a reality with regard to India’s

‘constructive strategic partnership’ with

Central Asian states?

Explain the impact of coalition politics
on India’s Foreign Policy since late
1990’s.

Discuss the implications of ethnicity

and nation-building in South Asia, and

their impact in the relations of states
within South Asia.
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7. (F) v A ‘@@ # 3 @ Aifd K g FRat
e i) wfirn-yam # I=-g@AS e 5
®9 # ¥R & nfawla #t ¥@d g, 70 @ Aifd

F AhAAYES TaTH R-FHElaaT g9d 87

20+10=30

(@) FHE REE T S Gy IR 6 GEERTER
amitE rfiedl’ & @y & aguafiam e o
TF T IRl 27

8. (F) 1990 & T & IY ¥ ¥RA H fagw Hfifd w
TEYA T & T9Td Tl W Hiv)

(@) =faw wfimn d e sk vg-fmio &
fifeet w3l =i Cimn & i & oSt &
TR W 3T WA WS AR

e

30

30

30
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B-DTN-L-JSB

T fagm qeon sradisa arary
I -g3—II
oy : @ e Uit : 300
AL

Fel % IW I wreAm F ford 9/ wife, e 38
3MT% YAW-97 § fohar T 8, oK 39wy #
3gE IW-J% & G@-98 W FHfkd AT e w
fdar s wifew) vdw-vg w IfGRad anaw &
sfafs 3= f&dt aregm 7 for@ 710 I W FE 9F
T fueit

I @& 1 3R 5 sifarf §1 St 3o 7 @ 3w
Gve ¥ FA-B-FH T J97 g9 fagl o7 g0t &
il gl

Yo% T34 & fefg (3o o1k Je7 & 3fa ¥ g 7w &)

Note : English version of the Instructions is
printed on the front cover of this
question paper.




